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3XML� GDQ� V\XNXU� VHQDQWLDVD� SHQXOLV� XFDSNDQ� NHSDGD�7XKDQ�<DQJ�0DKD� (VD�

NDUHQD� DWDV� VHPXD� UDKPDW� GDQ� NDUXQLD�1\D� EHVHUWD� NHOXDUJD� GDQ� SDUD� VDKDEDW��

6HKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�3UR\HN�$NKLU�\DQJ�EHUMXGXO �
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\DQJ� PHUXSDNDQ� V\DUDW� PHQ\HOHVDLNDQ� SURJUDP� SHQGLGLNDQ� '�� 7HNQLN�

7HOHNRPXQLNDVL�GL�8QLYHUVLWDV�7HONRP�

3HQXOLV�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�VHPXD�SLKDN�\DQJ WHODK�PHPEDQWX��

PHPEHUL� NULWLN� GDQ� VDUDQ� VHUWD� ELPELQJDQ� GDODP� SHQXOLVDQ� GDQ� SHQJHUMDDQ� 3UR\HN�

$NKLU� LQL�� 3HQXOLV� PHQ\DGDUL� EDKZD� SHQXOLVDQ� 3UR\HN� $NKLU� LQL� PDVLK� MDXK� GDUL�

NHVHPSXUQDDQ��+DO�LQL�GLNDUHQDNDQ NHWHUEDWDVDQ�SHQJHWDKXDQ�GDQ�SHQJDODPDQ�\DQJ�

GLPLOLNL� SHQXOLV�� 2OHK� NDUHQD� LWX�� GHQJDQ� VHJDOD� NHUHQGDKDQ� KDWL�� SHQXOLV� VDQJDW�

PHQJKDUDSNDQ�DGDQ\D�NULWLN�GDQ�VDUDQ�GDUL�EHUEDJDL�SLKDN�VHKLQJJD�XQWXN�VHODQMXWQ\D�

SHQXOLV�GDSDW�PHPSHUEDLNL�GDQ�PHQJHPEDQJNDQQ\D�GLNHPXGLDQ�KDUL��6HPRJD�EXNX�

3UR\HN� $NKLU� LQL� EHUPDQIDDW� EDJL� PDV\DUDNDW�� SHQJHPEDQJDQ� SHQGLGLNDQ� LOPX�

SHQJHWDKXDQ�GDQ�WHNQRORJL�NKXVXVQ\D�GL�8QLYHUVLWDV�7HONRP�
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3HQXOLV


